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cat i
Part [ Listening Comprehension k20 mmzutes)
Section A i . TN i
Directions: In this section., you wzll hear 10 short conuvérsgtions At f.he end of
each conversation , & question will be asked about what wasisaid .
Both the cunvversation and: the question will; be spoken only énce.
After each question there will be @ -pause. During the pdilse, you
must read the four choices marked A),:B), G) andiD), and
decide which is the best anstver’. Then mark the. cafras;amdmg lettet
on the Answer Sheet:-awith a line through the centre... -\ [
Example: You will hear: M: Isit possible: for you to workclate, Miss Grey? .
W: Weork late? 1 suppose so. if you really think it’s
Q: Where do you . think - this comversation * rost
probably takes: place®:. - :
You will read: A) At the office. - g

B) In the waitingroors 0 oo
C) Kt theairporti's -~ ~ 0 Pwr. ool
D) In a restaurant. © . vk el b

From the conversation we know!that the tiwo were talking about Some
work they had to finish in the evening. This is most. likely 0 have
taken place at the office. Theréfore, A)*Ar the office” isithe best
answer. You should choose [ A on the Answer Sheet and mark it
with a single line through the centre. 1 v

SampleAnswer {‘A'] (B} [C] [D]

1. A) She paid ¥40.00 for the coat. . Ta vt v
B) Her husband presented it to her as a gift. “\- - TR
C) She bought the coat on her fortieth‘!ﬁi‘thdar sl s e
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D) Her friend sent it to her as a birthday gift.
2.A) To ke@ hlqﬁdgm'xud geta%wgne;: 3 ;ﬁ e
B) To leave it in the garage to be repaired.

C) To sell his car for a new one.

DY To get- his car repairddiles (1 » LTt Pl
3. A) Husband and wife. C) Doctor and patient. Hox B
B) Father and daughter. ‘D) Teacher and student. -+~ v c uw

4. A) The man went td-the concert, but the woman didn't.
B) The woman went to the concert, but the man didn't. -
i
i .. C) The speakers did not go to the ¢doncert. . i N

1]
.n D) Both speakers went to theeoncert. - v 0!
it

5. A) An English textbock. -~ C)-A. chexmﬁtry book

i B) A Chinese texbook. .. .. Dy A history book.

w 6. A) The woman goes to school during-the day’and works dt night. . ~qu - -
! B) The womanvhas to werk 1o support herself. |

C) The woman's classes are not difficult. .

- D) The woman studies at night..
7. A) She feels that he worlt accept.anything. .
B) Shes sure he already has a pocket calculator. -
C) She thinks he has almost:everything he wants:!
D) She's afraid he wants more than she ean afford.
8. A) Tom survived the accident. .. ... -
.B) Tom was killed in the accident. . ..~ .
C) Someone saved Tor's life. . .
D) 1t did little damage to/Torgs car. .- C o B e
9. A) The traimis crowded. -~ . " - L. 0 o e
B) The train is late. T

35 ) L

: C) Phe train is empty... ¢ . ..

D) The train is on time.
10. A) No, all the rooms ‘are taken. )
: B) Yes, there is a double room., T e
Ao C) Yes, there are some spare mpammis., .+ - o dr g, o 08
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D) Yes, there is a single room. " 1
Section B s T R AT
Directions: I this section , you will hear'3 short passages. At the end of each
passage, you will hear some questions. Both the pussage and the -
questions will be spoken only once. After you hear a ouitkons; ~you
must choose'the best hisd From ‘thé foub chéicedprarked A Y, B,
C) and D). Then mark the correspohiding letter oi the Answer
Sheet with a single line through the'centre .
Passage One S |
Questions 11 to 13 are based on the passage-you have just héard:© = ! i
11. A) Her hushand had got o highe position. "™ © ' .* - b
B) Her husband had lost hisjob. = = ¥ : A
C) She wanted to have a cleaner house. I A ::
D) She wanted to move to New York. ' -8 Al ::

12. A) His telephone went out of order. fwnn AR ';:
B) The buyers had to leave soon. st n
C) He began to work at 8 a.m. . o

D) He had made an appointment with her for 8 a.m.. ~ * o

B) The ¢otton T-shirt with'a slogan or picture.
C) The nylon T-shirt wirn ‘'on playground. -
D) The wool T-shirt wom for work. '

15. A) T-shirts feel soft and wash welb:'
B) T-shirts are smart and comfortable. :
C) T-shirts go well whibygrouts 1 5t - et o =15 1Co e
D) T-shirts are suitable for evening wear: - * " '

13. A) They considered her lazy. i
B) They saw something they had never seen. - &

C) They considered her foolish." """ * i'x%

D) They saw something famnifiat 16 them. 2 g BT s
Passage Two i ]
Questionsi14 te. 16 arebwedﬂmﬂlemeymhavejustheard TR
14. A) The silk T-shixt in white color- M. o TSN 7
Sy

£
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16. A) New technology is being employed. T Y
B) Advertisehnents are being widely used. i

G) New designs are being adopted. .. o R I s o
D) More synthetic.materials are bemg mtroduqed el T
Passage Three = o e i

Questions 17. to 20 are hased.on the\passaseym have .\M heardm 5
17. A) For protection against. other apimals., ..,

B) For protection against other dogs. .

C) Just for fun.

ORI L EEE P
D) For thepuspose of guarding the housg. .. . 4w £1 o 5i 0 i
18. A) Because they did not eat other animals.,, ) ol L
B) Because they were useful for protection. . . . ) b
C) Because they were good huntggs,. ‘ B 1
D) Because they always obeyed thqg mgsters R T

19. A) For companionship. v e  ,;

B) For amusement.

' C) For protection against robbery.
% D) For hunting. . v i N
W 20. A) Thecity can be a ]onely place ) L i
i B) Life in the west can be very.dangerous. . ..\, S
R C) People in the west are fond of animaly, =, . '
- D) The dog is a useful and friendly apimal, - o
g8 . Pk suseen |
ey Partll + 1.; Reading Comprehension, - - - £35. minutes)
.63 Directions: There are 4 reading passages-n this part . Bach passage is Sfollowed
by some questions ar-ynfinished statements. Far each of them there
" are four choices marked A)yB) ,C) and D).. You shoutd decide on
s the best choice and mark the. corvespending letter an the Answer
Sheet with a single line through thecentre.
Passage One e
Questions 21 to 25 are based on the following passage; .
P o There is a popular belief among parents that schools are no lnmger smerested
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in spelling. No school I have taught in has ever-ignored spelling or considered it

unimportant as a basic skill. There are, however, ‘vastly different: ideas about
how to teach it, or how much priority (#£5€) it must be given over general
language development and writing ability. The problem is, how to encourage a
child to express himself freely and confidently in writing without holdmg him
back with the complexities of spelling?

If spelling becomes the only focal point of his teacher's interest, clearly a
bright child will be likely to “play safe”. He will tend to writé-only words within
his spelling range, choosing to avoid adventurous language. That's why teachers
often encourage the early use of dictionaries and pay attention-to dontént rather K
than technical ability. Co e o w : \

I was once shocked to read on' the bottom of 4 sensitive piece of writing
about a personal experience; “ This work is terrible! There are far’ too-miany -
spelling errors and your writing i /Zegible { MERA BBk #9) 21 It may have beerta ::
sharp ¢riticism’ of the pupiPs ‘technical abilities in writing, butsit was also a sad
reflection on the teacher who had omitted 'td read ' the essay, '‘which contained
someé ‘besutiftll expressions of ‘the childs deep feelings. The teachér was net wrong
to draw attention to the errors, but if hi§ priorities-had céntred onthe: child's
ideas, an expression of his diSappointment with the prsentauon woﬂ”lﬁd hiave given
the pupil more’'motivation 'to seek-improvernent. - “ g
21. Teachers differ in their opinions abewt-_+ -~ . -1 - R LT

A) the difficulties in teaching spelting -~~~ v

B} 'the role of spelling iri getiéral lahguage development '

'C) the complexites of ‘the hasic Writingiskills - * i

‘D) the necessity of teaching spelling - .
22. The expression”play safe” (Para.2) probably means“ ",

A) to write carefully - - e : FURRA

B) t6'do as teachers say ‘ e

C) to use dictiondries frequently

D) to avoid using wotds one'is not sure of
23. Teachers encourage the use of dictionaries'so that _ " - .~ ¢
A) stidents'will be ablé 1o express ‘théir'idms more fretly
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B)- teachers will have less trouble in correcting mistakes ..

. . .C) students will have more copfidence in writing : T
D) students will learn to be independent of teachers ;
24. The writer seems to think that the teacher's judement on,that sensitive, piece
of writing is T R NI
A) reasonable C) foolish.
B) unfair . . .1 D)«areless o
25. The major point discussed.in the passageis . .. . .
A) the importance of developing. writing skills.

B) the complexities of spelling - [

C) the correct way of marking compositions

D) the relationship between, spe]lmg and the-content of a compositjon
Passage'l\vo v ; L e B -
thtimmmwwmmmthcfdh\ymgpassaga 27

A.breakthrough (B ). in: the provision of emergy from: the sun; [or the
European Economic Community (EEC) could be brought forward by up ta two
decades,,. if a modest increase could be provided inthe EECs research elfort in.this
field, , according, 4o the senjor EEC sgientists engaged in experments in -solar
energy at EECs seientific laboratories.at Ispray pear Milan., . . ..., .«

The senior West German scientist.in. charge of the Cormnumtys solar gnergy
programme;, Mr. Joachim Gretz, told joumalists that at present levels of research
spending it was most unlikely that solar energy would provide as much as three
per cent of the Community's. energy, tequirements even .after the year 2000: But
he said that with a modest incretise.in the present sums, devoted. by the EEC to
this work it was possible that the brenk{hmugh Qqqld bejachipved.by .the end of
the next decade. , e 8% el s b G -

Mr. Gretz calculates that 1f solar energy only provujed three per cent of the
EECs needs, this could still produce a saving of abeut a,billion pounds in the
present bill for imported energy each yeari., And he helieves, that with the
possibility of utilizing more advanced technology in this-field it might be passible

\ to satisfy a much bigger share of the Communitys future energy nesds. .
e B At present the, EEC spends about.: $ 2. 6, milliogsia year on solar, resarch at
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Ispra, one of the EECs official joint résearch centres, .and another $ 3 millions a
year in indirect research with universities and other independent bodies.
26. The phrase “be brought forward” (Para. 1) most probably means“_. __ ".

A) be expected C) be advanced
-B) be completed D) be introduced
27. Some scientists believe that a breakthyough in.the use of solar energy depends
on - ; S "
A) sufficient funding 'C) advanced technalogy §
B) further experiments ~ - D) well-equipped: laboratories .

28. According to Mr. Gretz, the present sum of money will enable the scientists
toprovide . "
A)morethan3%0ftheEECsneedsaftertheyear2000 S
B) only 3% of the EBCs needs before the year 2000 S "
C) less than 3% of the EECs needs’ before-the year 2000 e ¢
D) 3% of the EECs needs after the year 2000 ., ) ‘ 'f'

29. Which of the following is NOT -true acording to the passage? = L
A) The EEC spenids onerhillion peunds on imported energy, each year. .

B) At the present. level of: research spending, inis difficult to make any |
significant progress.ini;the provision .of epergy-from the sun,. , ../ :
C) The desired breakthrough could be obtained by the end of shermest Aecade |
if investment were increased. ‘ Cayire L, ‘
D) The total yearly spending of the EEC on solar energy nesea;;(;h amounted  «
to almost 6 million. . . o a0 e : j
30. The application of advanced technology te reseaA‘Ch in solar energy - -,
A) would lead to0.a big increase in research funding
- B) would make it unnecessary to import.oil G
C) would make. it passible to meet the future énergy needs of the EEG ‘
.D) would provide a much greater proportion of, the Community's: future §
energy needs

Questions 31 to 35 are based on the foljowmg passage: g . /

Just seven years ago, the Jarvxku7 artificial. heart was: beu;g chseez‘ed as the—etd
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model of human creativeness. The sight of Barney Clark—alive and conscious
after trading his' disessed: heart for a- metal-and-plastic pump—convinced the
press, the public and many doctors that the future had arrived. It hadn't. After
monitoring production of the Jarvik-7, -and reviewing its effects on the 15¢ or so

patients (most of whom got the device as a temporary measure) the U. S. Food

and Drug Administration concluded that the machine was doing more to-endanger

lives than to save them. Last week the agency cancelled its earlier approval,

effectively banning (21k) the device. o

The recall may hurt Symbion Inc.; maker of the Jarvik:-7, but it worft end
n the request for an artificial heart. One problem with the banhed model is that the
n tubes connecting it to an external power source created a passage for infection.
n  Inventors are now working on new devices that would be filly placed, along with
w  atiny power pack, in the patient’s ‘chest.. The. first sample produets aren’t
. expected for another 10 or 20: years. But some peopld are already worrying that
,  theyll work—and that America’s ¢verextended hkalth-tare programs will lose a
W precious $2.5 billion to $ 5 hiflion a year providing them for.a relatively few
dying patients. If such expenditures(FF %) cut.into funding for more basic care,
the net effect could actually be a decting in the ration's health. '
31. According to the passage the Jarvik-7 artnﬁcxak‘heart pmrved tobe,.
- ~A)-a technical failure © -+ - ¢ G Rl e

B) a technical wonder T

» o0 C) a good life-saver o T e
D) an effective means to treat heart disease

32. From the passage ‘wé know that Symbion Iie. .

A) has been banned by thé government from producing artificial hearts

B) will review the effects of artificial hearts-befote designing new models

C) may continue to work on new models of reliable artificial hearts

D) can mike niew models of artificial hearts available on the market in' 10 to

20 years

33. The new models of artificial hearts are expected s Coa
A) to have a working lifetef 10 or 20 yoars. c Tt e
3%~ B) to be set fully in the patient’s chest '
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C) -to be equipped wvith an extermal,power source o B e e e
- D) to create o new paspage for infection . - . o TR Lo
34.. The word“them” in,Para. 2 refers to. . .i. R T E T
A) doctors who. treat heart diseases; . s 5 o
B) makers of artificial hearts I T O SR
i+ €) America’s health-care programs oo e cer oy bl s
D) new models of artificial hearts: .. PR 0 Rty SRR
35. Some people feel that _______. T N N I TR TN
A) artificial hedrts are seldom effective - ...~ N L ]
B) the country should not spend so much money on artlflClal hearts - "

C) the country is not spending enough mbnsy o artificial hearts ... ¢/ I
i

D) America’s health-care programs are not doing epough: for the nation’'s

health Eitas o o a8 \
Passage Four wort T e s ::
Questions 36 to 40 are based on the following passagez -+ (g | .

1}

A rapid- meansaf ldng-distance: fransportation; becarne a_nepgssity for the |
United States as settlement.(Ei¥h /B #1 ) spread ever farther westward.: The early
trains were impractical curiosities, and for along time the railroad ppmpanies met
with troublesome mechanical problems. - The most, serious. ongs,were the
construction of rails able to bear the load, and the.development of a sale, effective
stoppiﬁg system. Once these were solved, the railroad wag-established as the best
means of land transportation. Byi1860’ thera were thousarids,of-miles f railroads
crossing the eastern mountain ranges and reaching: westward-to.¢he . Mlississippi.
There were also regional southemn and western lines. ST E

The high point in railroad building came with the construction of .the first
transcontinental system. In 1862 Congress authorized two western railroad
companies to build lines from Nebraska swestward and from California eastward to
a meeting point, :s0as fo complete a transcontinental crossing linking the, Atlantic
seaboard with the Pacific. The Government: helped the railioads generously with
money and land. Actual work on this project began four years later. The Central
Pacific Company, starting from California, used Chinese labor, while the Union %
Pacific employed crews of Irish laborers. The two, groups worked at remarkable~* J:(E,,
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speed, each tryig to cover a greater distafice than the other. - In 1869.théy met at
a place called Promontory in what is now the state:sf Utatnr Many: visitors lcame

there for the great occasion. There were joybus celebrations all-over the country,
with parades and the ringing of church bells  to honer the great-achievement.
The railroad was very important in encouraging westwrrd movement. It also
helped build up industry and farming by moving raw materials and by.distributing
products rapidly to distant markets. In linking towns and people ‘4o one another it
helped unify the United States. Rt N .
36. The major problems with Americas 'railroad: system::in- the mid-19th century
layin~__ _ .% : : :
A) poor quahty rails and unreliable stopping systems
B) lack of financial support for development
C) limited railroad lines
D) lack of a transcontinental railroad HIUTER 2
37. The building of the first. transocfihmental bysterfr -+ ER 5
' A) brought 'about a rapid growth of inhdustry and iarrhmg in the west: -
" BY attracted many visitors to the construction sites -« - o i
- C) attracted taborers from Europe <
' D) ¥ncouraged people to travel all over the country vt gl
38. The best title for. this passage would be __
" A) Settlements Spread Westward i
B) The Cadist-to-Coast Railronds: A Vital' Link - -
C) American Railroad History . - e o R
. D) The Importance of Trains in the American Economy
39, The construction of the transcontinental railroad took
A) 9years C)d years - |
B) 7 years ' ¢ ‘ D)3 wyears ' - i
40. What most-likely made people think about a'transcontinental railroad?
A)The possibility of governmént support for -;uch a task.
" B) The need to explore Utah. ey
* C) The need t6 connect the east ooast with the west.
. D) The need to develot the railroad industry in the west. .
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